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~ PART-1
GENEMMIELHGENCE .
i. ~ Which one of the given responses 7. If the day before yeszérday was
+. woild be a meaningful order of the Wednesday, when will Sunday be ?
following 7 (A) Today
1. ‘Pwiligiht 2. Dawn (B) Tomorrow
3., Nooan 4.  Night {€) Day after tomorrow
(AY 2, L.E‘i,ik (B 2,3,1.4 (D) Two days after tomormrow
1,2, 3,4 11,3:2,4 L o
(© % 2 8.  Lakshmi 1s glder than Meenu. Leela
2, ﬂndnﬂﬂ the following words as per is elder than Meenu but younger than
:}ﬁlcf in the lilLtlonBI}f Lakshmi. Latha is younger than both
1 Adjuoons © 2. Aquarium Meenu and:Hari but Hari is yuunger
3. Aduiline 4. Aguatic than Meenu. Who 1s the youngest 7 .
_{,n,.‘;, 4,32, 1. By 1,2,3,4 (A) Lakshmi (B) M&Bnul
© 2:4,1,3 (DY 3.1:4.2 (C) Leela (D3 Latha i
3, Which one set of letters when 9. Nikhil is & years younger than his
sequentially placed at the gaps in the brother Rohan. How old will Rohan
given lotier series shall complete it 2 be when he is twice as old as Nikhi] ?
me, 0 % Gn_Ga_C_me A 4 B 6 (O 8 (16 z-
: M1 ; fi
(4) SR (B) eamcam 10. 1In a row of letters, a letter is 5™ from
(C), anacmm (D) acmmme left end and 12" from the right end.
Divections : In Question MNos. 4 to 6, a How many.letiers are there in a row ?
sodes is givon, with one term missing. (A) 15 (B If- (G1, I3 (a8
Capess the cordset alternative from the P i
wiv gnss il swill complete the series. kL ?mmmg 94 rﬁ’di" Simon szm.j’ he
: . is the daughter of the only sister of
o AT, BOP, COR, ? my father”. How is lady related to
; (A} BAS (B) DST Sithon ]
(O BQR (D) FRS (A) Mother -
. 5,0,914,21,2 (B) Aunt
{F'-fﬂ %3 (B) 30 — (CY Sister
“ ({‘_} 51 D) 29 (D} Cousin sister
€ -4,11,30,57. 128, 2
(A) 2l (B) 228 12. If A=1. ACT =24, then FAT=7
(o 2310 (Dy 237 (A) 26 (B) 25 (C) 27 (D) 24
SPACE FOR ROUGH WORK
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13.

14.

15.

16.

Ay TICOCHPSY
(B)~"TICCHOPSY .

Downloaded From

If ‘GLOSSORY’ is coded as
97533562 and ‘GEOGRAPHY’ =
915968402, then ‘GEOLOGY’ can

be coded as Q> 2
(A) 915692 (B) 9157592
(C) 9057592 (D) 9157591 _

If ‘NEU'RQTIC’ can be written as
‘TICRDNEU’ then how can
‘PSYCHOTIC’ be written ?

(C) TICCOHPSY
(D) TICHCOPSY

Some letters are given below in the
first line and numbers are ‘given
below them in the second line.
Numbers are the codes for the
alphabets and vice-versa. Choose the
correct number-code forthe given set
of alphabets.

. http://sscportal.in

From the given alternatives.select the

word’ vgh.lch cannot be formed using

the letters of the given word.
“INTERVENTION.

(A) ENTER

(B) INTENTIOM

(C) INVENTION

() ENTERTAIN

12,

Directions : In Question Nos. 18 & 19,
select the migsing nmmber from the given
responses.

18, 2 V43

W&

8. 7T 40

[H"L) 10 (B) 16 (© 12 (D) 32
19. Ei 315

249 10100 36

19 F64 16

139 200 ? .

(A) 107 ® T

© 27 D) 50

Directions : In Question Nos. 20 & 21,

CWE®RZXJIYKL : : & 21
3o sy g2’ . e wuiebnd o b f
IWXQEZ T ' the unsolved equation on that basis. -
£K) 198364  (B) 198264 20. 4%6x9 =694,5x3x2 =325,
(C) 19335?‘; (D) 197354 Txlx2 =17
oy (A) 729 (B) 872
From the given ajternatives select the (C)- 827 (Dy 279
word which can kg formed using the |
letters given in the word. 21. 1f 2463 =36 and
PREPARATION 5552 =30, then
(A PAMPER  (B) REPEAT 6732.="7
(C) PARTITION (D) PARROT (A) 32 (B} 36 (C) 34 (D) 39
SPACE FOR ROUGH WORK~
e

Downloaded From : http://sscportal.in



22 Select ‘thé ‘correct combination. of ="

24.

25.

Downloaded From :

mathematical signs to replacé *signs
and to balance the given equation.
5*6*5*3*14 4 0

(A) +=x=

© 4=

If — mean X, X means +, + means +

and -+ means —, then

40%x 12 +3-6+60="2
(A) 44 (B) 16
(© 795 D) 4

After starting from a point, A walks

3 km towards East. then tuming te'

his left he moves 3 km. After this he

again turns left and moves 3 km. In

which direction is ‘A’ from his

starting point 7 .
(A) North (By East
(T West (D) South

Ram goes 15 meters North then tagns
right and walks 20 meters, then agdin
tumns right and walks 10 meters, thep
again s right  and
20 mieters. How far 15 he from his
original position ? )
(X 5 (By 10

{C; 15 Dy 20

walks .

http://sscportal.in
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Difections: In Qilestion’ Nos: 26 aiid 27,

- two statements are given followed by two

conclusions I and TII. You have to consider
the statements/inferences to be true even if
they .seem to be at- varance . from
commeonly known facts. You are to decide
which of ‘the given conclusions, if any,
follow from the given statements. Indicate
YOUT ANSWer. M o

26. Statements ¥ ﬁ] Some chairs are

made upiof wood.
(i) Some tables are made up of
Inferences (I) : All. wooden things
are cither chairs or tables. -
(II) : Some chairs are
tables.

(A) Only inference I follows.

(B) Only inference Il follows.

(C)  Both inferences I and II follow.
g)a' . None of the inference follows.

27. ‘Statements  : (i) For protection of
Indian museums Central Govt.
* " is responsible. il
(i) Victoria Memorial Hall is
_ national property.
Conclusions : (I) Indian museum is
- national propeny.
(I) Historical property of
pation 1§ protected by the
* Central Government.
(A) Only conclusion ! follows.
(B) Only conclusion I} follows.
{CY Both conclusions Vand [T follow.
(D) None of the conclusion follows

- SPACE FOR ROUGH WORK

b
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Directions : In Question Nos. 28 to 34, Directions : In Question Nos? 35 to 38,
select the related words/letters/number - find the odd words/letters/number pair
from the given alternatives. from the given alternatives :
28. Cobbler : Leather : : Carpenter : ? & a5
(A) Fumiture = (B) Wood - (%) Barter (B) Purchase
(C) Hammer (D) Chair (€ Sele g Boubw
29. Foot : ?:: Hand : Wrist 36. (A) Flag: Flagship -
(A) Length (B) Shoe (B)  Court : Couptship
(©Y Ankle (D) Leg . (Q) _ War: Worship
; | (D) Friend : Friendship
30. Chair: Wood : : ?
(A) Book : Print 37, '(A) "BDFH (B) MOQs
(B) Mirror : Glass | (C) SUwWY (Bf TVZE
(C) Plate : Food | 3% ¥ (!
(D) Purse : Money 38. (A) 8-15 (B) 25-36
(Cy 49-r|5¢ (D) 81-100
31. EDUCATION : NOITACUDE : : i |
INTELLIGENCE: ? 1 39. Find out the set among the four sets
(A) ECENGILLTEIN i which is like the given set.
(B) ECNGEILLTENI — - .413:20:27) —
(©) ECNEGILLETNI (A) 13:11:18)
(D) ECNEGILLTENI - By (18:25:32)
* - © (18:27:72)
(A) GREP (B) IPKM
9/ IPKN (DY GRIP 40, Hﬂw many Ms occur in the following
' series such that it is precedad by W
33. 08:66::7:38 _ and followed by V ?
(A3 2 (B)o (C) 12 (D) 19 XBVMRSTMWNVMWOP
MWUVMWACWMVHPN
34, 32:21::35:° VWMWTUN
(A) 51 (BY53 (C) 32 (D) 26 | (A) 3 (B) 2 (C)y 1 (Db 3§
 SPACE FOR ROUGH WORK o
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50.
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A piece of paper is folded-and cut/
punched as shown below in the

question figures. From the given

answer figures, indicate how it will

appear when opened ?
(Question Figures :
i o
—m a . [
T
Answer Figures :
[} W - Yoou Tvood
¥ 4 a o A ov Ta
B oA = o g% .
oo b2 al|l|rocal|feoa
(A) By ©& (@O

From the given answer figures, select
the one in which the question figure
18 hidden/embedded

Question Figure :

3

Answer Fipures ;

[®lle

o @

(A AR 1E) 3

&

(D)

' FOR VISUALLY HANDICAPPED

CANDIDATES ONLY
Find out the wrong number in the given

&

45. If L1 means +, ;EF‘ means ‘X,

46.

47,

49,

‘0 means “=*, ‘A’ means ‘<, then
1sCIs0a0O 16 A8=2
(A) 12 B) 16 (C) 28 (D) 33

In a peculiar mathematical operation,
before any operatiens are done, the
numbers, are o ehanged as per
following rule :

1.3,5,7,9—> changed to 2

2,4, 6,8——¢hanged to 0

() —== changed to 1

Solve the following equation :
47924 67854071 -968 =7

(&) 122 (B) 100 (C) 211(D) 200

Anil 1s fifteenth from both ends of a
row of boys. How many boys are
there in the row ?

(A) 15 (B)Y 16 (C) 30 (D) 290

; 3 th 1 rd
If the ditference between 7 and 3
of a number 15 6, then the number is
(A) 240 (B} 120
(C) 96 (D). 144
In the following number sernies, how

many, 9’s are followed by an odd
number and preceded by an even

series from the siven alternati s &
Pl e i 4713891694395432971954821495178
(A) 101 (B) 121 (C) 169 (D) 196 Eg i "-g} 3
e (D) >
44, A Trog is at-the bouom of a 20 feet 3 B: . } i
well. Each day he jumps 3 feet and += 5. How manv Tuesdavs are possible if
slips back two. At that rate, when the last day of the month’ (excluding
- will the f:mg reach the top ﬂrﬂI]F well 7 - February) is Wednesday 7
iA) 17" Day (B) 18" Day (A) 3 (B) 4.
(C) 20" Day (D} 21 Day | (Cy 5 (D) 6
e e—
SPACE FOR ROUGH WORK .
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PART - 1I

ENGLISH LANGUAGE

Directions : In Question Nos. 51 and 52,
- four words are given in each question, out
of which only one word is correctly spelt.
‘Find the correctly spelt word and mark
“your answer in the Answer Sheet.

51. (A) Adalosent () Adolascent
(C) Adolescent (D) Adaloscent

52. (A) Sovenir .- (B) Souvenir
{C) Suvenir 1D) Suvenior

Directions : In Question Nos. 53 to 55,
four, alternatives are given for the
Id!t@ﬂ’hme underlined in the sentence.

Choose the “altemative which best
exprésses the meaning of the Idiom/Phrase
an::t mark it in the Answer Sheet.

53. If you want to solve the problem for ever
you must take the bull by the homs.
; (A) - pull the bull’s homs. 4
*(B) [face a difficulty or danger boldly.

" (O) tunaway from adifficulty or danger.

®)

face a dHficulty or danger
confidently.

54. Rajib washed his hands of the matter
long ago,

(A) overcame the difficulties

(B) refused to nceept responsibility for

(C} 100k the responsibility
(DY refused tochange the decision

L¥ 1
tn

All the nesghbours gave her the cold

shoulder because she ill-treated her

davghter-in-law, :

{A}l showed intentional
untriendliness tc her company

(B) felt her shoulder was cold.

T lewd disilke  for
company, -

(D) showed liking for her company.

- CG 2013

her
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Directions : In Question Nos. 56 to 58, out
of the four alternatives choose the one
which can be substituted for the given
words/sentence.

56. A person who runs away from justice

or the law :
(A) Refugee _ (B) Martyr
(C) Fugitive . © (D) Recluse
57. A place where E@;:!r-:: kept
= (A Adiay 4 (B) Apiary
(C) 0. Granacy (D) Dispensary
58. A hater of women
(A) | Bigamist

(B) Misogynist
(C) Misanthrope
(D) Polygynist

Directions : In Question Nos. 59 and 66
part of the sentence is underlined. Below
are given altemnatives to the underlined part
at (A) (B), (C) which may improve the
sentence. Choose the correct alternative. In
case no improvement is needed your

answer is (D), Mark your answer in the
Answer Sheet.

39. The criminal was ordered to be
hanged to death i
(A)
tB)
(C)
(D)

hung to death
hanged uli deaih
hung till dzath
ne mprovement

60. The expert was very interesting i.:f
this candidate.
(A) ﬂ
(B)
(€)

(D)

was having interest
Was very interested
i having interest

no improvement

002 PM 3
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Directions : In Question Nos. 61 to 65, a
sentence has been given in Active/Passive
Voice. Out of the four altematives suggested,
select the one which best expresses the same
sentence in Passive/ Active Voice and mark
your answer in the Answer Sheet.

61. Itook care of his dog.
(A) His dog was taken care by me.
(B) His dog is taken care by me.
(C) His dog is taken care of by me.
(D) His dog was taken care of by me.

62. The washerman will return  the
clothes in the evening.
(A) The clothes will have to be
. returned by the washerman in
the evening. _
(BY ‘The clothes will be returned by
the washerman in the evening.

(C) The“'a:luthes will return by the

washerman in the evening.
(D) Inthe evening the clothes will have
been retumed by the washerman.

63. He picked up the telephone and’

dialled the police number.

(A) ‘The telephone was being
picked up and the police
number dialled.

iB) The telephone was picked up
and the police number dialled™
(G} The relephone had been picked
up and the police pumber dialled.
(D The telephone has been picked
up and the police number dialled.

o4. An i-piki  Das Dpeen bought by
v Anubbav's mother, - -
tAY Anubhav's  mother was
engaged in buying an i-pod.
(B}  Anubhav's mother had bought
i i-pod.
(C)  Anubhav’s mother has been
buying an i-pod. '
v} Anubhav’s mother has bought
an i-pod.

602 PM 3
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65. Some girls were cleaning their

dormitories.

{A) The dormitories were (louned
_ by some girls.

(B) The dormitories will have beer

cleaned by some girls.

(C) The dormitories were being
cleaned by some girls.

(D) The dormitaties are beins
cleaned by some girls.

Directions : Tn QuestioniNos. 66 to '?l"l. a
sentence has been given in-Direct/Indir:
Out of the four alternatives auggcstui
select the one which best expresses ihe
same sentencein Indirect/Direct and mark
youranswer in the Answer Sheet.

66. He swore in the name of God that h

Wwasdgnorant of the matter,

LA) He said, “I'mignorant by God |

(B) He declared, “God knows 1 was
ignorant of the matter.”

(C) He said, “By God ! I'm
ignorant of the matter.”

{[ﬁ“= He said he was ignorant of God

n
67. He proposed to his companions thal
they should noi misssshat chance o
Ied Hrﬁ last show

(A) He said to his companivns, ‘1o
~US NOL 1o miss the chance (o see
the last show

(B) He said to his companions, *i &
us net muss that chance (o see
the Iast show.

(C) He said to his companions.
‘We should not miss that
chance 1o see the last show

(D) He said to his companions, "Let

us not miss the chance to zec
the last show.’

Downloaded From : http://sscportal.in
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b9.
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“Bring me an elephant with one .

golden tusk,” the witch told her

minion. _

(A) The witch requested her finion
to bring her an elephant with
one golden tusk.

(B) The witch told her minion to
bring her the elephant with one
golden tusk.

(@ The witch ordered her minion
to bring her an elephant with
one golden tusk.

(D) The witch advised her minion

to bring her, an elephant with

~ one golden’ 1(1§k

. S
“How much will you pay for this

cow 77 Jack asked the strange man.
(A) Jack asked the strange man

how much he would pay for
that cow. ¢_ .

{:E;} Jack asked the strange man
' how much would he pay for

that cow.

(C) Jack asked the strange man
how much would he pay for
this cow.

(D) Jack asked the strange man
hosmueh he™~vill gy for that
COW,

The teacher said. “"Water boils at 100 °C."

(A) The teacher told water boiled at
100 °C,

(B} The teacher said that water
boiled ar 100 °C.

N ™

toe tzacher sand that water
boils at 100 °C. _

(D) The teacher told that water
boiled at 100 °C.

CG 2013
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Directions : In Question Nos. '}'1 to 76, the
1* and the last sentences/parts of the
passage/sentence are numbered 1 and 6.
The rest of the passage/sentence is split
into four parts and named P, Q, R and S.
These four parts are not given in their
proper order. Read the sentence and find
out which' of the four combinations is
correct. Then find the correct answer and
indicate it by blackening the appropriate
oval (@) in the Answer Sheet.

71. 1. 'Six robbers" entered a
Nationalised" bank today at
9.50a.m.

~One group kept an eye on the
' CuStomers.

The assistant manager was
forced to unlock the vault.

The other group held the

™

&0

- Manager at gun point.

5. They cut off the telephone lines
and deactivated the burglar alarm. ~

6. . The whole operaon was over
in 20 minutes.

(A) SPRQ (B) PSRQ

(C) PQSR (D) QPRS

72. 1.  AIDS is an incurable disease
which affects the resistance
power of the body.

P.  People sweeumb within two
years and often die inspite of
any treatment.

. AIDS is caused by a virus
named HIV.

R. In such a condition the body ‘is
totally defenseless against ali
kinds of infection.

5.  HIV destroys the white biood ::cl]:’-
which fight the bacterial virus.

6.  Thorough research is going on
throughout the world for the
prevention and cure of AIDS.

(A) QPRS #B) QSRP
(C) RQSP (Dy—SPOR

002 PM 3
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P

- Books are the best company.
P. Through books we even see
X them as if they are really alive,
Q. They also give us the best
society.
- K. We hear what such great men
said or did.
5. They help us in establishing
contact with many great men.
6. As we read, we share great
thoughts with great men.
(A) PQSR
" (B) QRSP
(C) _.QSRP ;
(D) SPQR
74. 1.  One of the greatest advances
P. has been the invention of
computers
€. in modem technology
R, in industry, administration and
: education,
S.  whieh are widely nsed
6. and in almost every sphere of
‘ human life. af
(A) PQRS
(Bj QPSR
(C) QPRS
(DY SPOQR
5. -_'I‘hﬁ amount of oxygen
P. _to'meet thedncreasing demands
Q. due 0 indiscnimunate
deforestation
R. s being diminished dav by day
S. which is released from 1he

(1,

(8)

(©)

(D)
002 PM 3
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76. A patient accusing a doctor

of malpractice will find it
difficult

Q. without
testimony

R.  toprove damage

3.  oreven file a case in the court

6.  about proper medical procedures

-

another doctar’s

(A) RPQS
(B) SQPR
(C) ORPS
(D) PRSQ

Directions : Tn desunn Nos. 77 to 81, in:
the following passage some of the words
have dbeen left out. Read the passage
c'lreﬁ:l].l:.' and choose the correct answer ta
each qumlmn out of the four alternatives

and ﬁll in the blanks :

Tnithese days of cable television the radio has
again become popular. As in the days befoie
the 77  of television, people switch on
their radios first thing in the“homing. FM
channels of every _ 78  can be heard
broadcasting news and songs of every

79 . More than anything else, people
prefer to listen _ 80 which bring a
refreshing change to the __ 81 g, routine of
their everyday lives. i

L

77. (A) adven (B) appearance
(C) birth (D)  genesis
78. (A) range (B) variety
(CY  frequency () category
79, {A) state (B) language
(C) descripion D) kind
: ,
80. (A) into the songs
(B) fromjthe songs
(Cy the songs
(D) 1o the songs
8L. " (A) packed (B) monotonous
(C) exciting (D} light
CG 2013
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Directions : In Question Nos. 82 to 86,
you have brief passage with 5 questions
following the passage. Read the passage
carefully and choose the best answer to
each question out of the four alternatives
and mark 1t by blackening the appropriate
oval {&®) in the Answer Sheet.

Bringing up the baby is now a science
and fine art ! Most of the, maternal
grandparents weuld agree with this
statement. My mother lost fifteen kilos in
six months when my son was born and I
gained that as much. Both ways it_was
because of the anxiety and shaped
responsibility. My colleagues welcon

retirement when their daughter is ready &,
deliver or had just delivered. They most
often befriend young experienced mothers
and spend long counselling’ sessions with
them collecting tips- on how to tackle a

risis. .
Crsis. . ' i,

Itis a funny sight 10 see grey haired
women browse “Bringing up Baby” books
at the local book store. One tends to think
what they did with their own off springs.
Ask them and pat comes the reply “it was
s0 easy then. They grew up on their own”,
_Jlhe mother may wear_many hats at the
same ime. Bul o her or her parentgthe
mind boggling thing for the first few years
I8 diaper changes. circadian rhythm and
feeding. Ai home
taboo. Phone calls give canse for irritation,
music becomes noise, friends and 1elanw::~:;

vecomne tolal strangers, the domestic help a
spirit of mercy and the pedeatrician 2 fairy
sodmother. Raising a kid is akin to a
pueritla warfarz and it you hear a woman
say thal her baby~"is beautiful and perfect
and an angel all the time” then she is the
grandma.

CG 2013
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- 82. What  is dlfﬁcull “for
grandparents 7
(A) - Raising grandchildren
—B) Feeding children
(C) Giving birth to grandchildren
(D¥” Bringing up babies

maternal

83. How did the mother and the daughter
share the same anxiety ?

(A) Both were uneasy with the new

born
(B) ~Both feared babies
(C) Bethe were concerned about

raising the baby

Both  were nervous
shared responsibility

aboul

@)

84. Why do female colleagues welcome

retirement 7

(A) They get lot of free time.

(B) They become free to attend to
household duoties.

(C) They can be of help to their

®  daughters and their offspring.

(D) They-can cook good food for

their children and

grandchildren.

85,  "To wear many hats’ means

(A} Wear helmet

=5 Wear head gear

(- Do hawsiviing

(D) Undertake-much work

856, Why is social jife taboo at home ?

(A) Babies are demanding.
- (B} Babies do not like guests.
(C) Babies hate parties.
(D) Babies prefer to go out than

stay at home.
002 PM 3
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: Directions : In Question Nos. 87 to 91,
some parts of the sentences have errors and
some are correct. Find out which part of a
sentence has an error and blacken the aval
(@) corresponding to the appropriate
letter (A, B, C). If a sentence is free from
errors, blacken the oval corresponding to

(D) in the Answer Sheet.
87 The principal fstaﬂad his lecture /
. (A) (B)
with a pessimistic note. / Mo error.
Q- (D)
88 Rohan had been playing /
' (A) .
w7 for his club for fifteen vears,
(B)
€. when his elbow got injured. / No error.
() (D)
= MNone of the twins
89. (A) / B) /
offered to help me. No error.
L (C) (DY
90 My teacher .fdid noi object
d (A) - (B)
to me using the calculator.  No error.
(C) (D)
91. Theriver has overflown ' its banks. p
(A) (B} (C)
No error. .
@)
Directions @ Im Ouestion” Nos. 92 1o 96.
sentences are piven with blanks to be filled
in with an appropriate  word(s}. Four
alternatives are suggesied for each question.
Choose the comec! altermative out of the
four and -indicate 1t by blackening the
appropnate oval (&) in the Answer Sheet.
v£. 1ne bird's voice was speaking
all lying under stars.
(Ayto (B)for (C)at (D)in
002 PM 3
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93. my food and my repose
were salted.
(A) Noneof (B) Allof
(C) Both (D) Both of
94. India will arch rival
Pakistan in the finals.
(A) takes after (B). looks after
(C) taken backy " (D) uake on
95. The shepherd was looking after the

_&of shegp.
(A) erew (B)gang (C) fleet (D) flock

96. #Many of us believe that science is
' gqmcming modern the
truth is otherwise.

(A) unless (B) though(C) if  (D)as if

Direetions : In Question Nos. 97 and 98,
out of the four alternatives, choose the cne

— which best expresses the meaning of the

given word and mark it in the Answer Sheet.

97. VIVACIOUS

(A) Lively (B) Venomous

(C) Clear (D) Superior
98. Staunch

{A) Loyal (B) Benmign

(C) Good D) Wise

Directions : In I':._’ueéti-:!ﬁ Nos. 99 and 104
choose the word opposite in meaning to the
given word and mark it in the Answer Sheel.

99. Modesty >
(A) Honesty {B) VYani
(C} Orgmality (D) Variety
100. Spite
(A) Spleen {B) Venom
(C) Spint (D) Affection
CG 2013
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PART -1III
QUANTITATIVE APTITUDE

C:

101. le+3y:3.x+5y=13:29,theny.

is equal 1o
4 2 5
Wi ®3 ©F O

- 0.081 x 0.324 x 4.624 |
* \J 1.5625 x 0.0289 x 72.9 x 64 *°
(A) 24
() 0.024

(D) 2.04

103. In a particular type of alloy the ratio
of lead to tin is 5 : 6. The amount of
lead should be added to 12.1 kg of
this material to make the ratio 1 2 1 i3
(A) 1.1kg (B) 1kg
(C)y 09kg (D)*15ke ~

104. If the average of m numbers is n and
that of n.mumbers is m”, then the
average of (m 4+ n) numbers is

(A) 51]*1' (B) mn
(C) m=n (D) m+n

105. The simple interest at x% for x years
will be ¥ ¥ on 3 som of

(A) tx B) 7100:
o 2% ) P

e e W 8 e e 8 R m T - -

(B) 2.4 -

106. A shopkeeper sells an article at a loss
of 12%%* Had he sold the article for

T 51.80 more, he wonld have earned
a profit of 6%. Thecost price of the
article is A%

(A) 280 (B) sﬁu ftC} 370 (D)450 |

107. The cost price of 18 articles is equal
to the sellingprice of 15 articles. The
gainis . '

(A) 25% 9;.;2[;% (C) 18% (D) 15%

108. E\hcccsﬁ& discounts of 50% and
50% is equivalent to
(A) 100 (B) 75%

(C) 59% (D) 25%

109, A. B, C enter into a partnership with
i - 1 -4 6
shares 1n the ratio 7 13 ix After 4

months, A increases his share by
50%. If the total profit at the end of

the year was ¥ 43,200, then the B's. _

share in the profit is
(A) 24,200 (B) 4,800
(Cy T7,200 (D) TE000 -

110. Two trains, of same length, are
running in parallel tracks in opposite

directions with speed 65 km/hour and

%3 km/hour respectively. They cross
zach other in 6 seconds. The length
of each train 15

(AY 100 metre (B)
(Cy 125metre (D)

i 13 metre
150 metre

"SPACE FOR ROUGH WORK
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111. 50 persons can do a work in 12 days,

W15 BT ©F O
2 HrsleTandy¥o=1, henz+l
112. x+},— andy +> =1,thenz +
isequalto . L =%d
& ;f}qu - o
AWz B ©1 ®0,
i @
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working 6 hours/day. 60 persons can
do the same work in 8 days, working
x hours per day. The value of x is

‘HI‘.’L Ifdx -5z =16 and xz = 12, the value

=i
P

114,

£ 115

- 116.

LY
L

of 64x> — 12523 is equal to
(A) 15610 (B)
(C) 15618 Dy 156200

1.1
=
L

L

frx+y+z=15 xy #y2H20&="75
tl'::n'+_}r_15 equal to

(A) 1 (B) 0 (C)2  (D)-1
If ‘the ggphv; of 3x - 5y = -8 and
x4+ Syti-'& 32 intersect at the point

(p.'g)y then the value of p - q is

(A) 3 m} 2 (1 (MO
‘]'v-.f_.d-'- and v =13 =2 then
the value of 8xy(x” + y=) is
A) 1696 (By 32

Gy s (D1 30

15616 40

\ [F
o

ay
“'117. In 4 AABC, FA= E‘UP IfBD and CD
Hre intemal bisectors of ZB and £C

respectively, then the £BDC is,
(A) 100° (B) 110°
(C) 120°

el

118. The side BC Dﬁ‘\lﬁ%ﬁiﬁ‘ﬁgie ABC is

pmduc:e:d tn CD =112° and
ZABC a zFrFﬁ.c {hen the ZABC
ﬁw |
F‘*} '68° (B) 58°
;?"*--J © 4 (D), 3°

!
i 'q_

l'-

‘h!il In AABC, X and Y are pmnts on
“sides AB and BC respectivefyssuch
that XY || AC and’ XY divides
triangular region ABC into "two parts

AX .
equal in area. Then T AB is equal to

(A). 2-4 1!2 3{2“—!— 3

&5

€y -

120. A circle is touching the side BC of
AAB®at P and is also touching AB
and AC produced at Q and R
respectively. If A = 6 cm, then

perimeter of AABC is
1A) {B)
(C) (D)

§0 cm
i3 cm

& cm

12cm

SPACE FOR ROUGH WORK
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121, The length of two parallel chords of a -

126. If the base of a right pyramid is a
circle are 6 cm and 8 cm. If the triangle of sides 21 cm, 20 cm, 13 cm
smaller chord is at a distance of 4 cm and its altitude is 30 cm, then its
from the centre, the distance of the = volume (in cm?) will be
f:;e; {:hq:;defr{;m ﬂnz (l::-]en:re tsmﬁ (A) 430 (B) 630
Py IaE e (ol ey oo (© 1068 %m 1260

122. The area of an isosceles uﬁgﬁ Al 127. If the dlﬁﬂrcnm n an exterior
176 cm? and the height 183 77 of the angle of a rf:guiu: ppiygnn of n sides
som of its parallel sides. If the ratio :‘:d 1:: ;: mnﬁﬂuﬁfﬁ_ T} a;ndztsher
of the length of the parallel sides be gﬂﬂ 10.5°, ytf} A idne of -
4 : 7, then the length of a diagonal is :i? 5 {B}? E{E T’ b HIEB
(A) \,158 cm (B) 2\__!147 cm A B
(© N137em (D) 2y137cm 12821 the base of a right prism of 20 cm

_ " high is a rhombus whose diagonal

123. The medians AD, BE and CF of a® are 14 cm and 18 cm, then the
triangle ABC are of lengths 18 cm, volume in cm? of the prism will be
24 cm and 30 cm respectively. The .
area in cm? of the triangle is WA 2o () 2250

- (©) 3520 (D) 1250
-{h) 96 (B) 192 (C)288 (D)374 -

129. The value of sin’1° + sin?3° + sin?5°

124, A solid iron sphere of diameler 6 cm: +..ovniiin + 5ID?87° + 8in?89° is
is melted 2nd made to a hollow i
cylindrical pipe of external diameter (A) 22 (B) 2'2“?‘

Ifcm and of Il:nglh 4 cm. The md?h
of the sheet 0fpupe 15 C© 23 (D) 1231
(A}ﬂl cm (B‘j 2cem (C) 3cm {D‘,I 4 cm
_ 130. The minimum value of cos0 + sec?@ is

123, Ii gne volumes of a spfiere and = (A0 (B)! {2t S B
cvlinder of equal radius are samne,
then ratio of the radius and height of 131. If cos @ + sec B =2 (0° < 8 < 90
the cylinder wili be then the value of cos 108 + sec 118 is
(AY4:3 (B)3:2 (C)3x4(D)2:3 (AYD  _(B)i (C)2 (D)—1

- SPACE FOR ROUGH WORK
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132. In a division sum, the divisor is 10
times the quotient and 5 times the
remainder. If the remainder is 40,
then the dividend is

(4) 240 (B) 440 (C) 4040 (D) 4000

133, Theva]ueafi+(g ‘;) G*%)*%
nf%is _ P
| 1 2 o,
(A3 (B3 ©fF Dy
; 2
&
i r.__:r_‘rfn_j' A
134. letx=5 L
-\{_ 5+V’- \J‘_ ‘ij - ||“p :"i'i
The value of xis | b
(A) 5+45 {Bi] 0
H 7
© 35° (DY 5
135. The total number ¢

f %jéne factors in
(25)10 x (242 X126) AL

(A) 1000 (B) 1200 (C) 160 (D) 140

0.625 x 0.0729 % 28.0

137.

138.

¢ :n {;@ 60

‘I”

%1
o
h

iy t"'

L f.éi.fﬂ. A reduction of 20% in the price of

140,

http://sscportal.in

The value of

@o @4

A
Two num am"rcwpecuvely 25%
and 40% I% han a third number,
W:ha%\;»agﬁm of the first is the
[ "_‘-?ﬁ‘

 scond

I‘ g-‘

(@3 (D)2

(B)70 (C)40 (D)80

sugar enables Mr. Bhadra to buy an
extra 5 kg of it for ¥ 320. The
original rate of sugar is

(A) T12perkg (B)
(C) Tlbperkg (D) T20perke

T 15perkg

In two blends of mixed tea, the ratios
of Darjeeling and Assam tea are 4 : 7
and 2 -

two blends should be mixed to get

5. The ratio in which these

the ratio of Darjeeling and Assam tea

136. The vatue of e 0 025 x 1.7 in the new mixtre as 61 13 is
(A) 3825 (B) 3845 (A 2:7 (B) 5:13
(€) 3925 (D} 3945 (C) 4:13 (D) 22:35
' ; ~ SPACE FOR ROUGH WORK
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141. If sec B — cosec © = 0, then the value

146. A-and B waIkl_”mm -::m: corner of.a

oftan 8 + cot 8 rectangular _f_ie]ii to the comer just
i Ao @1 ©-1 (D)2 - diagonally opposite. A walks along
142, From the top of a tree of height the diagonal, and B walks along the
120 m the angle of depression of two sides, reaching (the -finishing point
boats in the same line with the foot together. If the ratio of the length and
of the tree and on the same side of it breadth of the field is 3 : 4, the ratio
are 45° and 60° respectively. The of their spﬂeﬁs is gl .
distance between the boats is ' rg
(A) 3:4 \ 4:3
&) 40G-\3)m  * o 48 \,‘* -
(B) 40(\3-1m g |
O 120 w“ \F" 2 Dire;#nri':ﬁpcﬁfl the following table and
(Fr BOE-N)m ' .anm@:r questions 147 and 148 :
143. (a + b -2 + (b + ¢ — 22"+ I:: " |Percentage of candidates| Total™
' (c +a—2b) is equal to " qualified under discipline | number of
(A) (a+b-2)(b+c-2a)(c+a-20) | i g g w [Fndidates
(B) 2Aa+b-2c)(b+c—24)(c+a—2b) = 2 8|k a2 £ | qualified
1O 3(a+b-20) (b+c=22)(c+a—b) 5| 215(8| £
(D) -3(a + b =2¢) (b 4.6 ="2a) “1812 &
(c+a-2h) -
8 2006|24| 40 {19 09| 08 780
144. The sum of two aumbers is 528, and P .
their HCF 15 33. How many pairs of el bl ml D LA -
such numbm‘mhg 7 . 20081200 45 | 20| OB a7 500
AL B2 (©3 (D)4 SV Q2009)15) 45 [16| 14] 10 | 620
145. A, B and C are three taps connected g - 2ot 3s as|ie| g2 | 900
the tank in 6 hours, B and C together ”
can fill it.in 19 hours anld fang G =+i7. The increase in. the number of
ogether can fill it in 75 hours In i candidates qualified ungder
how much time will C alone can fill Engineering discipline from 2605 i
the tank 7 2010 was -
tAY 10 hours (BY 12 hours () 28 {(B) 30
(Cy 20 hours (D) 30 hours ({C) 46 (D) 49

“SPACE FOR ROUGH WORK
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148. The number of candidates qualified
in Science discipline was the lowest

in the year
(A) 2006 @y 2008
(C) 2009 (D) 2010

Direction : Study the following graph and
answer (). Nos. 149 and 150 :

Aol [T m ks irvesicd in raw manerial

r

£ valie (% in lakis) of sabes of finished poods

600
B0 - -
! S E
= - o -
2 |
= 200 4 = ZH Rz
2 200 = ZER=
= o] o o
T Z ZE Wz
1 z ZEN=
1 = 2 s
1995 1956 1597 1998 1999 20000

| ¥

149. The- value of sales of finished goods'

in 1999 was approximately what
percent of the average amount
invested in raw matenals in the year
1997, 1998 and 1999 ?

(A) 32% (B) 37%
(C) 49% (D) 52%

150, The maximum difference between
the amount investedssn raw materials
and the value of sales of finished
goods in thal year was in the vear

(A) 1995 (B) 1996

(C) 1997 D) 1998

e e e e —

48,

FOR VISUALLY HANDICAPPED
CANDIDATE ONLY

147. A particle goes from a point P to
another point Q at an average speed
of 60 metre/minuie and comes back
to the point P at, qm-.-emgﬂ speed of
40 * metres/mingt 59 The average
speed of the MICTL for the whole
jl:l'l..'llfTIE}' 15 W

 (A) ﬂmcuﬂmmutca
(B} 4$mtrefmmu£es
() 24 metre/minutes

r {D} 44 meire/minutes

A and B are two stations 465 km

" apart. A car starts from A at 10 a.m.
and travels towards B at 65
km/hours. Another car starts from B
at 11 am and travels towards A at 35
km/hour. At what time two cars meet
each other ?

(A) 5pm (B) 4 gm (C) 3 pm (D)2 pm
149. A car runs along the four sides of a
square field at the speed of 20 km/hr,
30 km/h, 40 km/h and 60 km/h. Find
the average speed (in km/h) of the
car around the fighl.

(A)32 (B)34 (0)38 (D)42

150. A boat goes 30 I:rn upstream and
44 km down stream in 10 hrs. In
I3 hrs, it can go 49 km upstream and
53 km down stream, then the speed
of the boat in still water is
(Ay-3km/r.  (B)

(C)_ 15 km/hr. (D)

& km/'hr.
13 kmv/hr.

SPACE FOR ROUGH WORK

Downloaded From : http://sscportal.in



151.

Downloaded From : http://sscportal.in

PART - IV
GENERAL AWARENESS

Who was the founder of ~ the 157. Match correctly the following

“Prarthana Samaj” ? countriecs and their capitals by

(A) Ramakrishna Paramahansa
(B) Swami Vivekananda

(C) Athmaram Panduranga
(D) Dayananda Saraswathi

152. Arrange the following v historical
events chronologically choosing the
corréct response :

I.  French Revolution
0.  Glorious Revolution
II.  American War of
Independence :
IV. Russian Revolution
(A) T I I v
(B) O m I 1V
Cy I I Iv I
(D) I 11 I IV

153. The Southernmost Point of India is
(A) Cape Comorin
{(B) Point Calimere
) Indira Point
(D)  Port Blair

154. Which of the following soils is most
ideal for paddy cultivation ?

(A} Laterite soil
(B) Redsoil
(C)  Alluvial soil
(D) Black soil

i35. The red colour of red scil is due o
the rusting of
(A} INitrogen
(B) Humus
(C} Iron
(D)  Copper

156. Which one of the following rivers
weises the equator two times 7
{A) Cango River
(B) Amazon River
(C) Niger River
(D} Nile River

CG 2013
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151,
. associations forms a lichen 7

Dy A

162,

. Which one ff

choosing the comrect response :
Country Capital

(a) Argentina (i) Bogota

(b) Colombia (ii) Harare

(c) Egypt (iii) Buenos Aires
(d) Zimbabwe (iv) Cairo
(2) . (b) fj-‘) (d)
(A) @) (i) 0w )
B) (i) (@v) TE» W)
(C) (v) () 'G1) (i)
(D) Gy (1) & Gv) (D)

The type of root formed in Betel vine is
(A)  Stilt Root

(B) Clinging Root

(C) Climbing Root .

(D) Prop Reot

Chromosomes are made up of

(A) DNA

(EY" . Protein

(C) DNA and Protein
(D) RNA

Jersey bull used for cress breeding is
an exotic variety from

abh

{A) England ™
{B) France g
(C) Holland

(D)  Switzerland

Which of the followine symbiotic
[ ]

(A}
{B)
(i

An algae and a fungus

An algae and a bryophvte .

A bacterium and a fungus
bacterium and A
gymnospefm =

the following crop
combination 14 not adopted in mixed
cropping in India 7

(A) ‘Wheat and Mustard

{B) Wheat and Chick Pea

{C) Rice and Ground nut

(D) ~Ground nut and Sun flower

002 PM 3
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Dalionism (Protanopia) is the form of
colour blindness in which the patient
cannot see

(A) Green coloyr

(B) Red colour

(C) Blue colour

[D} All the above mluurs

163.

164. ‘The photoelectric effect is described

as the ejection of electrons from the

surface of a metal when

(A) Itis heated.

(B) It is placed in strong electric

field.

Electrons of suitable velocity

impinge on it. ’

fB}(.Lighl of suitable wavelength
fallsonit.  °

e
X-rays are
(A4} longiudinal
(B) transverse -
(C) electromagnetic
{I})q elastic

(C)

165. waves.

166. The shape of a rain drop is aphcf@gl
due to

(A) Viscosity

(B) Surface tension
(C) Elasticity

(D) Gravitation

¥

167.
y-radiatigns, in deereasing order., are
(A)y P
By NBa
(C) ﬁ;m‘f

(DY Yo B
168. In MS-Excel, which of the following
function is used to find the highest
vilie within the hst 7

WAy JOUNT

{B) PROPER

(C) MAX

— (D) SUM

CG 2013
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~ 169. While the mmpuiér executes a

program, the program is held in
(A) RAM
(B) ROM
(C) Hard Disk
(D) Floppy Disk
170. A hybrid computer is the one having
the combined pml':rt:l'ﬂﬂs of
(A) Superand c:ﬁpnmputers
(B) Mini and mig puters

(C) Analog m;}::s:s ters
v

(D) Super and

171. Tritiomi8an is&npe of
(A ‘*-ﬂxma”
(B) | Hydrogen
IC}I H‘Jbaplmmub
@} fNJEngEn

lf‘ﬂ-ﬂ Th-: three basic components of an
,  alom are

(&)
(B)
(C)
(D)

protons, neutrons and jons
protons, neutrons and electrons
protium, deuterium and tritium
protons, neutrinos and ions
173. Alcohol obtained
saponification process is
{A) Ethyl alcohol
(B) Methyl aleohol
(C) Woo spirit
{D) Glveero]

in the

—-

174. The product of equivalent weight and
valency of an element is equal to

(A) Vapour density
(B) Specific heat

(C)  Atomic weight
(D) Molecylar weight

[ S—

J

Chlorofluro carbons are widely used in
{(A) Micro ovens

(B) Solar heaters

(C) Washing machines

(D) Refrigerators

175,
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In which Eco-system Grassland is -

included ?

(A) Marine

(C) Temestrial (D) Artificial

The main pollutant responsible for
Bhopal Gas Tragedy i$

(A} Maethyl isocyanate

{(B) Bromine

(C) Chlorofluro carbon

(D) Chlorine

Presently the Union Minister of
Minority Affairs is .
(A) Dr. Faroog Abdulla‘h

(B) Ghulam Nabi Azadg_

(C) K.Rahman Khan

(D)  Salman Khurshid' -

Who won the Women French Open e

Tinlein2013 7 4
(A) Maria Sharapova
(B) Victona Azarenka
(C) Serena Williams
(D) Venus Williams

Which of the following places of
Sikh religions hentage is notin India 7
{AY _Nankana Sahib

(B) Napded

(C) _PagniaSahih

(B) Kﬁ“gﬂﬁ Sahib

The headaquarters of which one of the

following organizations is not in

Geneva ?

(A) Food and Agnicultural
M eansation

(B) World Meteorological
Organisation

(C) World Health Organisation

(D) World Trade Organisation

CG 2013

(B) * Fresh water _

.1-_]-'

182. Which one of the following museums

in India and its location is wrongly

matched ?

(A) National -
Railway
Musewm

(B) The Calico -
Museum
of Textiles

(C) Salar Jung ~
Museum ‘

(D) Napier #«; A'i]urm rananthapuram
Museumg x,,, 22

New Delhi

Mumbai

Hyderabad

183. Which one of m{fﬁummg Buropean

Union aﬂi,:rr.ml'rﬁ.L as its own currency
1n{lﬁaqn¢||: switched over to Euro ?
(A) Eiznce (B) Germany
'E'[_‘.l Sweden (D) Spain

,.l&d ':Iilpe pioneer of modern Hindi

= (A)

3
N o

L
"

Fiterature is

Srinivas Das

(B) Munshi Premchand

(C) Devaki Nandan Khauri

(D) Bharatendu Harishchandra

185. Which munﬁ':.f has been admitted in

186. Which one of the

July 2013 ds the 28" member of the

European Union ?
{A) Bulgaria (B) Croasia
(Cy Cyprus (3} Romama

following is
wrongly paired ?

Sports Ground
{A) Athleucs —  Track
(B) Base Bali -  Court
(C)y Golf - Course
(I} Wrestling - Ring

187. Which American President was a

famous film/T.V. star before he
became the President 7

(A) J.F. Kennedy

(B) Gerald R. Fond

{C) Richard Nixon

(D) Ronald Regan
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188. “Value added” is equal to ’
(A) Output minus input
(B) Manufacturing profit
(C) Gross profit
(D) Capital gain

189. Value of a commodity expressed in

terms of money is called

(A) Price

(B) Demand

(C) Unlity

(D) Money value "
190. Selling cost is an Etemeﬁt of

(A) Menopolistic Competition
(B) Perfect Competition
(C) Pure Competition
(D) Monopoly
191. The opportunity cost of a factor of
production is
(A) what it earns in its present use.
(B) what it can
period.
(C) what it can eam in some m.hcr’ﬁﬂt
(D) the cost of production.

. The demand for a product which is
wanted for itself is known as

Derived Demand
(B) Industry Demand
s (C) Company Demand
: (D) Direet orAutonomaons Demand

form of
India has been

. The  Parliameniary
Government _ in
adopted from the
(A} Amencan Constiiution
{B) Russian Constitution

(C;  Briush Censtitution
(D} Swiss Constitution

194. Which of these are essentals of
clcmﬂtrmn: system "

rrap and fair elections

Equality of opportunity
Protection of rights

All of the above

iB}'
(C)
(D)

CG 2013

egarn in the lnug; "

%

38

195.

196.

199,

200.

(O

: _TI{C] "Article 37
: A97. Which

. Which ancient Indian kingdom is

Which Amendment Aet is-referred as'
mini constitution ?

Ay ™ Cuusmuuunal ﬁ.mendme:nt
. “Act, 1956

(B) 24" Constitutional Amendment
Act, 1971 '

42™ Constitutional Amendment
Act, 1976

44" Cnnmu;lmna] Amendment
Act, IET?.?\

Which A H b* u:; the Indian
Constitution s 'Lﬂf.:s that Directive
Principles of $tate Policy shall not be
tlL[urcéﬂhlﬁh} any Court ?

{A‘i} gﬂf-:lc 31 (B) Artcle 38
(D) Article 39

(D)

" oneg of the following
languages is not specified in
Sehedule 8 of the Indian Constitution ?
(A) Sanskrit (B) Sindhi "+
(C) English (D) Nepali

wrongly matched below with its capital ?  °
(A) Maurya - Pataliputra

(B) Pandya— Madurai

(C) Pallava - Vellore

(D) Kakatiya — Warangal

Which were the two dynasties, which

ruled immediately before and after
the Khilyis ?

{A) Slave and Lodi
(B) Saityvad and Lodi
{Cj Slave and Tughlag
(D) Tughlagq and Lodi

Who among the following did not
participate in the 1857 Revolt against
the British ?

(A) Tantia Tope
iB) Tipu Suitan
(C) Rani Lakshmi Bai
(D) Nana Saheb
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
v & 3t fufir

Directions ! Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each case,
you are required to select the one that comectly
dnswers the question or completes the statement
and blacken [@] appropriate oval A, B, Cor D
by Black/Blue Ball Point Pen against the
question concerned in the Ansyer-Sheet.

(For VH candidates corresponding oval will

be blackened by the scribe.)

The following example iHustrates the manner in
which the questions are required to be answered.

Example : "
Question No. .*Q° — '

Out of the four words given below, three are
alike in some way and one is different. Find the
ODD womrd ; -

(A) Girl
(B) Boy
-, {€)-Woman

YD) Chair -
Explanatior ! In the above example, the correct
answer 1s “Chair’ and this answer has been
suggested at ‘D’ Accordingly, the answer i8 to
be indicated bydslackening [#3] the oval by Black/
Blue Ball Pm;nf Pen in column ‘D’ against
Question No. ‘()" i_n the manner indicated below :

P

eI

Question 'N.q. H)

Al - [BP

There is only one correct answer o each question.
You should blacken lem] the oval of the
appropriate colummn, viz., A. B, C or D. If you
biagken [@]- more than one oval against any ane
question, the answer will be treated as wrong. If
you wish to cancel any answer, you should
completely erase that black mark in the oval in
“w ‘nseerSheet and then blacken the oval of
revised n:smm;'e.

You are NOT required to mark your answers in

this Booklet. All answers must be indicated in the
Answer-Sheet only..

IC} i)

TR W A AR SRR A IR SvEER

% SRR e
A H, T Eo
(Al (B] iCl (=)

e : o W o wetE Y B F AR TR
I A9 T 9 AT TS 1 705 30 F et
Tl v ot e & i e W SR Y srger e

@H. A, B, C W D & Siy/A dieuie 9 §
e (@] FETE |
(Eheafoa seffgant & foo § svemr i
T e fopar wme 1)
¥t fw o s @ et s s aet Fem v
Ru=aFg |
JETETT
g i

4 e ggur =i ¥ o g frem-oen €
U 8 e 6 H 7 | o omm e W e
AL -

(A) @B
(B) i
(C) mfgen
(D) T

LT - AT F IR | W@ e o ¥ adiw
T IW D A G O o T OE, W %
TR FieW D’ % HvgmR T W EeAR we-
U2 9 W AT S (a9 HH ot A @ A

E_'EHF?"""EF'Q"‘ETHEI"?T%" wyrrR T
B M| A, B, C ZITD%BT“EIEHTH'?“'TH-THI
[ﬁ]m%lﬂﬁmmmmwwﬂwm
HVEEHR G B W (@] 7 YW I e "
e 1 afE g et 39T W S Ond €t e
GG S AVSTHN @ § F A9 B g
e ® firer € ofit o@ = au I ¥ few sweeei
TH B Tl HS |

T T % T S s ARea AR w §
m&?_ﬁﬁ'aﬂ‘a‘-ﬂﬁmﬁﬁ%n
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Study Kit For FCI Examination

*Medium : English *1200 + Page
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